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Section 2.8 Revisited

® XIS 2= (Free Motion) : 2|20| Q= ZR9| 2 K|H{EH Al

my''+cy'+ky =0
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my''+cy'+ky = r(t)

e y=y(t): displacement from rest
® c: damping constant

® k: spring constant (spring modulus)
Spring

M
External assm
force r(t)
Dashpot

® r(t): external force
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PROBLEM SET 11.5

HW: 2, 3
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11 6 Approximation by Tr'gonometrlc
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11 6 Approximation by Tr |gonometric
Polynomials (&ZCFsHAof] o] 2AD

m Ex. 11.3 EL|o}Sawtooth Wave)

Z2(0| 348 Toret

fx)=x+7z (~z<x<x) 012 flx+27)=f(x)

j(x+7z) dx — 7{272 +4Z }
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PROBLEM SET 11.6

HW: 5, 14




® Fourier series are powerful tools for problems involving
functions that are periodic or are of interest on a finite
interval only.

® However, many problems involve functions that are
nonperiodic and are of interest on the whole x-axis.
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PROBLEM SET 11.7
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